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500L5% 7%
LPG 665, 974 1,258 0 3, 589, 380 7,995 0
PG 15, 298 1 0 373, 700 200 0
LG 109, 635 100 0 619, 957 339 0
AG 2,736 0 0 14, 444 3,000 0
LT 1, 000 1,329 0 1,996 4,518 0
LNGV 0 0 0 0 0 0
wnL 0 0 0 0
(LDH 0 0 0 0
CHGGV 0 0 0 303 115 0
ZDfth 4 0 0 616 146 0
ERESS . 1 854,647 2,688 | o 4,606,396 weaw3p o 0
*aiEm A %) 141.1 111 0.0
SEMEt . 87,3% 4,622,709 |
xeTERALE %) 141.0

500L kL £ 1000L ki
LPG 0 0 0 0
PG 927 0 3,239 0
LG 602 305 3, 140 1,724
LT 0 0 0 0
LnL 0 0
(LDH 0 0
CHGGY 0 0 0 0
Z D 63 0 333 0
ERlEsest | 15%2f 0sf 0 1 . &ny 4 1
HNEEREA R h) 269.3 342. 1
wegsst o 189 ... .. 846 ]
HEERAE &) 0.3

1000LELE
LPG 1,162 557 48 4,782 2,240 298
PG 0 0 0 34 18 0
LG 17 35 3 541 284 10
LT 80 30 14 319 107 53
tnL 0 0
(LDH 0 0
CHGGV 0 0 0 0 0 0
ZDfth 0 0 0 112 61 4
iEEgar | 129 622[ e | sme[ 270 ]
XEERAE &) 105.6 99.9 109. 6
.Egs 0 ... 1% ... 883 ]
AHETERAE %) 0.3
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e | 2 o op of 99 of _________ o _________ 0
HEERALL (%) 3.6 0.0 0.0 0.0
ovevEgAER | 2o | e ]
HAFERAL %) 0.0

CHOVHE SRR DM B M
mRERaR | o ] oo oo 1 of of 0
AETER AL %) 0.1 0.0 0.0 0.0
chevEmeEEt | o | T ]
*EERA L (h) 0.0

CHGTHZ 38 A DM R &
EaEsAE | o o ] o o o o 0
AETER AL (h) 0.0 0.0 0.0 0.0
chehEmeaRt [ o o ]
HETERALL (h) 0.0




